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SMTE : 2o BDURIIZ
® X&H= CER-E)
AN .22 . H3 .09 - NSAY - HES X & o ELEL HDS2
e 2,478,328 2,384,007 94,321
NSLE Al 2,478,328 2,384,007 94,321
F=H 2 Helsd 24 439,909 607,120 A167,211
CAEE (A2 0LEI2) 439,909 607,120 A167,211
=S2Z 03l 372,789 574,800 A202,011
201 L Br2 3| 143,589 295,600 A 152,011
01 At2R22ldl A 152,011 143,589 295,600 A 152,011
oZ1sE MAHASE #¢
338 9,000,000& 1A - J| & 8,000,000& = 1,000
o=ga1= dH 29
a3 100,000,000& =14 - J| & 250,000,000& = A 150,000
O+ XNEAHAN 2| 4FH FEME
3 & 2,588,300& - J|& 5,600,000& = A3,011
70,000 150,000 A 80,000
280,000 70,000 150,000 A 80,000
338 70,000,000& - J& 150,000,000 A 80,000
120,000 90,000 30,000
30,000 120,000 90,000 30,000
OANEE=REEH 10,000, 0003 304 A 30,000
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ol
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B9 HRAY - BHAS NEL PIEPEY" TREE
2 NE& 29,320 32,320 A 3,000
2 B2 Il 28,200 31,200 23,000
AL 22l dl A 3,000 7,200 10,200 A3,000
gek 4 A1,400
oMy Z23 0@ - JIE 1,400,000& = A 1,400
2 A 1,600
ez
238 80,0003 *x5H+83] - J|& 4,800,000& = A 1,600
ddl ¥ 37,800 0 37,800
401 Al HIY 37,800 0 37,800
NE=:1 37,800 37,800 0 37,800
20 37,800
[ IR 21,560,000& 14! = 21,560
(& 21,560]
o= 14,068,000 *14l = 14,068
== 14,068]
@2 ANANN AEFHH 15,4003 #1410 &~ = 2,172
== 2,172]
PES(FEH) 2,038,419 1,776,887 261,532
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CHE O NEAY - HAS NEL PIEPEY" TREE
2,038,419 1,776,887 261,532
2,032,789 1,776,887 255,902
2,032,789 1,776,887 255,902
255,902 2,032,789 1,776,887 255,902
2% 2,032,789,000& - JI& 1,776,887,000& = 255,902
gl 5,630 0 5,630
5,630 0 5,630
HE X3 g 5,630 5,630 0 5,630
ES NEAS &
5,568,000& = 5,568
EL X &AL Ol Rt
61,2602 = 62
A= g A 2,478,328 2,384,007 94,321
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224 & s
SIHAE 20214
PN PNES 2838 2 X
3 = S NLEI2
| Al = &g I (crol @)
s o
K} OH
o e = ol Kt I E =5 soloal | g2 &k ol
N @ |#U2 | 2x2 o=z e |"ENE e e aas| AR | (@O
U o (=] = o 2 Al S =
A0l 20l AbSIH| Jl=Zul | g 2As |ClS34AE INE=S
20154 DX 0 0 0 0 0 0 0 0 0 0 0
20164 & 400,370 0 0 1,210 | 399,160 136 0 0 0 136 400,234
20178 & 663,097 0 0 5,604 | 657,493 50,677 39,600 0 11,077 612,420
20184 & 581,906 0 0 11,068 | 570,838 72,714 72,697 0 17 509,192
20198 & 594,127 0 0 12,160 | 581,967 | 222,660| 222,628 0 32 371,467
2020 & 472,292 70,000 45,000 12,209 | 345,083 | 397,077| 372,741 24,336 0 75,215
20218 & 509,800 0 37,800 13,000 | 459,000 | 445,539| 400,709 39,200 5,630 64,261
H 3,221,592 70,000 82,800 55,251 | 3,013,541 1,188,803 1,108,375 63,536 16,892 | 2,032,789
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4. Oixlz & OE=s EAl

SIHAE 20214
&t @ JI=¥HE 2 X
AR - SYUFLEEIS

ol & @
OlX 2 Ol
22 0 Xl (=) H
20198 = U & T A 20209 =LA@ 221 =L ETHA® 2 (®-®@)
Al 1,893,313 1,968,528 2,032,789 64,261
0l Xl =2 A 1,893,313 1,968,528 2,032,789 64,261
=852 3 1,893,313 1,968,528 2,032,789 64,261

-37 -






사용자
사각형


HOIES XAl
X XIg XAz

<XHa & d b





사용자
사각형


o - =
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SIHAHAE 20214
Ol&EXE 0 D128 HE 2 X
SIHFZE @ HIISH2AANELXNXNGXNRAI2
@ JSEXN MK
(1) EX2H : OlHAHISEMHAELEXNNEXNEIZSEXNL2E XY
(2) &x=H HIISH2AE EXNXNE Fo=2RNSH
(3) &x1¥9 = 20104
@ JI=2289 Jl=ug
(1) JISAg =28 S HIJIZ2MEAIE AX 2 HEXE eSS st &XNY =09 Assa I 525d
(2) 20219 = DI2AISE R CHJIZ2MEAE EXXNE FOXNAE2SA 2% ANJANY 23
® JI=2x4 & 22
(1) JI2x=d s &
O deg JI2 24N
HCcC XM =
2020 S @ 202018 & R A HE
_JE/SIO_H @ A Ol = = D} —
Tt:l@ IlE@ Sc@_@_©
53,979 265,303 252,000 13,303
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SIHAE 20214
Ol&t Xt  JI=HE 2 I
SIAFE  HIISHMAANMEELXNXNGXNEI =

OIPNF=2UNE-—} (9 ® <
= & A = X = A -
s = =g JENH 5 Z g = NENH JIEN g &
= Al 319,282 268,931 50,351 | & Al 319,282 268,931 50,351
& = =2 186,018 186,018 0|dl & &t & At & Hl 252,000 252,000 0
2 S =2 0 0 ol A & A E i 0 0 0
Xt = = 0 0 o)l & 2 <& i 0 0
L B 0 0 ol =2 = oW 0 0 0
o &3 233 =+ 0 0 0l & = 0 0 0
o x = 3 = 53,979 48,885 5,094 | Gll Xl = 67,282 16,931 50,351
Oll o= = 0 0 OIS el 3as 0 0 0
0l Xt o= 2 600 600 Ol == & cl 3 & 0 0 0
| Et = 78,685 33,428 45,257 | J| Et Xl = 0 0 0
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SIHAE 20214
Ol&t Xt  JI=HE 2 I

SHFZ @ HIEHM2AANLEXN NG XN =
@ == CHo X 2
-8 SNCIE p/E-L" 52 & o
200 Ml 22 79,285 34,028 45,257
220 LAIE A Q2 78,685 33,428 45,257
224 J|Et ¢l 78,685 33,428 45,257
224-07 9% 78,685 33,428 45,257
Lol e A
= 78,685,167 - J|E 33,428,0008
0 BMLUSLUHEAHH 239,997 234,903 5,094
710 BEMAQS 53,979 48,885 5,094
714 Gl X238 % 53,979 48,885 5,094
714-01 IR 238 % 53,979 48,885 5,094
|4
ZH 53,979,001 - JI & 48,885,000
- 319,282 268,931 50,351
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@ XEH =EEEED
EX 22 FW .G - HRAY - BES e PIEPEY" DE
A& 2tel ot 319,282 268,931 ,351
HII= 319,282 268,931 351
MWREs (K& 22 t) 67,282 16,931 ,351
BEXNES(HIISHAMEEXNXNSXAI2) 67,282 16,931 ,351
HIOI2delAMd &X1X9 XAz WX 67,282 16,931 ,351
602 Ol Xl = 67,282 16,931 ,351
01 LEtuXl= 50,351 67,282 16,931 50,351
OUXl=
238 67,282,000& - J1& 16,931,000 50,351
o= g A 319,282 268,931 50,351
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SIHAE 20214
Ol&t Xt  JI=HE 2 I
SIAFE  HIISHMAANMEELXNXNGXNEI =

X o N & & oM

o o=y =] & oH

=re= - Sx23ls Ol Xt J| El HEXE | SAE |ozegy |29 (W= | I _
W@ |2 |ex2 | gz |33 | gaz H o |98 < | anean =3 28 (@-®)

(Ol RH=8H) ESye] 29| AP HI AtSIH| |% 223U | 2248 2S4S =

2015 kXl 1,294,653 | 1,287,435 0 0 0 0 7,218 0| 1,093,782 1,093,782 0 0 0 0 0 200,871
2016 &= 203,646 201,431 0 0 0 0 2,215 0 191,800 191,800 0 0 0 0 0 11,846
201789 &= 201,788 199, 163 0 0 0 0 2,625 0 183,000 183,000 0 0 0 0 0 18,788
201848 = 98,361 96,073 0 0 0 0 2,288 0 177,785 177,785 0 0 0 0 0 ANT9,424
20194 & 185,336 184,341 0 0 0 0 995 0 242,880 242,880 0 0 0 0 0 A57,544
20208 = 208,940 208,346 0 0 0 0 594 0 249,498 249,498 0 0 0 0 0 A 40,558
2021 &= 265,303 186,018 0 0 0 0 600 78,685 252,000 252,000 0 0 0 0 0 13,303
Al 2,458,027 | 2,362,807 0 0 0 0 16,535 78,685 | 2,390,745 | 2,390,745 0 0 0 0 0 67,282
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SIHAE 20214
Ol&t Xt D= 88 2 X
SIAFE  HIISHMAANMEELXNXNGXNEI =

e EE
OlX 2 Ol
22 O XI ()X
20198 = U & T A 20209 =LA@ 221 =L ETHA® 2 (®-®@)
Al 94,537 53,979 67,282 13,303
0l Xl =2 A 94,537 53,979 67,282 13,303
=852 3 94,537 53,979 67,282 13,303
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